NENV

ITEM NO. PART NUMBER DESCRIPTION betauit/

1 REV-41-1291 HD Hex Motor 1

2 REV-41-1607 HD Hex Mounting Plate 1

3 REV-41-1609 M3 x 8mm Button Head Screw 2

4 REV-41-1608 UltraPlanetary HD Hex Pinnion Gear 1

5 REV-41-1603 UltraPlanetary 5:1 Cartridge 1

6 REV-41-1602 UltraPlanetary 4:1 Cartridge 1

7 REV-41-1601 UltraPlanetary 3:1 Cartridge 1

8 REV-41-1604 UltraPlanetary Output Cartridge 1

9 REV-41-1609 M3 x 40mm Cap Head Screw 6

10 REV-41-1604 M3 x 6mm Set Screw 1

11 REV-41-1347 5mm X 75mm Hex Shaft 1

!li [ | ]
MM SHEET TOLERANCES: INCH SHEET TOLERANCES: MATERIAL:
X £ 0.50 MM X£0.1IN
XX £0.10 MM XX+0.02IN
XXX £ 0.05 MM XXX +0.004 IN
ANGLES # 2° X.XXX +0.002 IN
ANGLES # 2° DATE: 8/19/2019

Copyright © 2019 REV Robotics, LLC




[38mm]

I

1.50in

[1 Omm]
0.39in

Part Number [Approximate Gear Ratio |Exact Ratio
REV-41-1601 (3:1 84/29
REV-41-1602 |4:1 76/21
REV-41-1603 |5:1 68/13
M3x0.5 V' 7mm
- REV Motion
T + Pattern [16'T'm.]
=] [22mm]
- ©0.87in
— [Gmm]
[17mm] | | 0.24in
0.68in _ smm Hex
MM SHEET TOLERANCES: INCH SHEET TOLERANCES: MATERIAL:
X +£0.50 MM X+0.1IN
XX £0.10 MM X.X £0.02 IN
XXX £ 0.05 MM XXX £0.004 IN
ANGLES # 2° X.XXX £ 0.002 IN
ANGLES t 2° DATE: 8/19/2019

Copyright © 2019 REV Robotics, LLC




3 Cartridge configuration Gear Ratio Table (Input:1)
Stage 2
Stage 1
Ll REV-41-1601 |REV-41-1602 |REV-41-1603
% = REV-41-1601 8.4 - -
ME"_ REV-41-1602 10.5 13.1 -
— REV-41-1603 15.2 18.9 27.4
[120mm| REV-41-1601 &
- 4.73in - REV-41-1601 24.3 30.4 43.9
[6mm] REV-41-1601 &
0.24in B REV-41-1602 30.4 37.9 54.8
. . . REV-41-1601 &
2 Cartridge configuration REV-41-1603 139 518 19.3
IE | REV-41-1602 &
‘ === REV-41-1602 37.9 47.4 68.5
% ] | REV-41-1602 &
[1omm] REV-41-1603 54.8 68.5 99.0
B 4.34in N REV-41-1603 &
[6mm] REV-41-1603 79.3 99.0 143.1
024in | | Output Torque (Nm)
. . . Stage 2
I Cariridge configuration Stagel IR EV-41-1601 |REV-41-1602 |REV-41-1603
% ol REV-41-1601 0.9 - -
= 7 REV-41-1602 11 1.4 -
IL L REV-41-1603 16 2.0 2.9
oo = REV-41-1601 &
B 3.05in B REV-41-1601 2.6 3.2 46
lomm] REV-41-1601 &
0.24in REV-41-1602 3.2 4.0 5.8
- REV-41-1601 &
0 Cartridge configuration REV-41-1603 46 53 33
| E REV-41-1602 &
E [ ] REV-41-1602 4.0 5.0 7.2
| REV-41-1602 &
| % REV-41-1603 5.8 7.2 10.4
[90mm] [6mm]  |REV-41-1603 &
- 3.55in <0240 |REV 411603 8.3 10.4 15.0
MM SHEET TOLERANCES: INCH SHEET TOLERANCES: MATERIAL:
X +0.50 MM X+0.1IN
X.X +0.10 MM XX £0.02 IN
XXX + 0.05 MM X.XX £ 0.004 IN
ANGLES + 2° X.XXX £ 0.002 IN
ANGLES + 2° DATE: 8/19/2019

Copyright © 2019 REV Robotics, LLC




	Sheet1(2)
	Drawing View11

	Sheet1(2)(2)
	Drawing View17
	Drawing View18
	Drawing View20
	Drawing View21

	Sheet1
	Drawing View6
	Drawing View9
	Drawing View10
	Drawing View22


